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1.In the closing phase, a construction project has an extensive change issue. The project manager
gathers project documents required, which of the following documents belong to the company’ s
knowledge closure?

A.change control procedures

B.financial control issue reports

C.outstanding issue reports

D.organization matrix
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2. During the development of the project charter, the project manager identifies many highly
probable risks and believes the project will fall. What is an appropriate next step?

A.Stop working on the project as the risk is too high

B.Stop working on the project charter and start work on the risk management plan

C.Continue working on the project charter and start work on the risk management plan
D.Continue working on the project charter then review it when it with the stakeholders
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3.The project reaches closure and all deliverables are accepted. What should the project manager

do next?
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A.Create a project closure report

B.Perform rcquircincm closure

C.Create a work performance closure

D.Perform quality assurance
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4.The project manager is approved to execute a US$12million, three-year project. After 25% of
the project is completed What is the next step after calculating the schedule performance index
and cost performance index?

A.Ask for more money

B.Perform variance analysis

C.Develop performance forecast

D.Submit a change request
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5.A project manager presents the project plan to key stakeholders, citers stakeholder input, and
obtains approvals. Later, a stakeholder says that a detail in the communications plan needs to be
changed, the project manager discusses it with stakeholder and they agree to the suggested
changes. What should the project manager do next?

A.Create subsidiary documents in the communications management plan

B.Generate a change request and submit it to the change control board
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C.Keep the project plan as it has been approved by stakeholders

D.Change the communications plan and request takeholders’ approval
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6.When are key project constraints documented?
A.During definition activity

B.During planning

C.During initiation

D.At the kick-off meeting
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7. When the project relies on external vendors and contractors, what document describes how
the project management system will be used?

A.Statement of work

B.Memorandum of understanding.

C.letter of intent

D.Project management plan.
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8. A project manager was being assigned to a large enterprise located in another country. The
project manager has planned the project properly and conducted all the phases of the project
with success. Currently, the project manager is collecting the lessons learned during the project.
In what stage is the project manager?

A.lnitiating

B.Planning

C.Executing

D.Closing
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9.Current iteration ends, and the customer says the product didn’ t meet the acceptance criteria.
As a scrum master the response is

A.Add it in the next iteration backlog.

B.Extend the duration of the iteration.

C.Cancel the current iteration.

D.lgnore the opinion from a customer, since the task is fixed during iteration.
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10. A project manager runs a mission critical project with a tight schedule and budget constraints
some activities are key dependencies for the other. Which of the following components should be
monitored closely to keep the agreed upon project schedule baseline?

A.Riske and their mitigation plan

B.Activities on the critical path

C.Overall change control

D.To perform a task with less experience

10350 H Z FRAE AT — LSS, HREARR 5K, WH BB W AR, WEsh A B AR
R T ML) ERIIE THRIFEE, R TR N A T A

AR R fi 1%

BB KA L HITE )

CHEARAR T 5 il

D. H1 /> 22 56 ) B IR PAAT AR 55

11. A project team works, overtime to compensate for resource constraints. The project manager
notices a conflict between two team members is causing a split in the project team ’ s
dynamics.What should the project manager do first to resolve the conflict and restore the project
team’ s focus?

A.lssue a verbal warring to the two team members causing the conflict

B.Reallocate the resources to avoid future conflicts

C.Meet with the team to identify key issues and allow open discussion to reslove

D.Escalate the team conflict to the project sponsor
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12.During a weekly project governance meeting, the project manager observed a disagreement
on a critical decision. The project manager intervenes by incorporation viewpoints.which leads to
a consensus by both members.What conflict resolution technique did the project manager use?
A.Collaborate/problem solve

B.Smooth/accommodate

C.Compromise/reconcile

D.Force/direct
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13. A project to implement a new system has trouble launching due to extensive and
contradictory discussions regarding the project deliverables. The project manager leaves the
company and a new project manager is assigned to the task. What should be the first action for
the new project manager?

A.Formalize the project management plan and communicate this to relevant stakeholders
B.Escalate to the project sponsor and request support in handling the ongoing discussions
C.Develop a work breakdown structure and communicate this to all relevant stakeholders

D. Formalize a project charter and request approval from the sponsor and key stakeholders 13. /5
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14. A stakeholder is requesting a major change to the project scope. The change is of vital
repentances to the stakeholder. The project manager performs the necessary analysis of the
change and finds that, because of the impact on project cost and schedule. It needs to be
approved by the change control board (CCB). The CCB denies the change. What should the
project manager do next?

A.lmplement the change despite the decision made by the CCB, because the change is vital to the
stakeholder and to the success of the project

B.Include the decision from the CCB in the change lag; notify the stakeholders and the project
team of the situation

C.Recommend that the project be stopped and new requirements gathering should be performed
D.Meet with the CCB members individually to influence them to change their Decision
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15. In an implementation project, the development phase has been outsourced to an offshore
team. During the execution of the project, the off-shore team states that vital information to
proceed in the development is missing. However, the on-shore design team has stated that all
designdocuments have been provided. What could most likely be the cause of this situation?
A.The communications management plan has not been created properly

B.The two teams do not get along well with each other

C.Project managers lack conununication skills

D.The risk management plan has not been created properly
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16.The client files for bankruptcy and the project is closed prior to completion. What should the
project manager include first in the final project report?

A.Lessons learned

B.The documented transfer of unfinished deliverables to an operation group

C.Project performance reports

D.The cause of project termination
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17.A project manager discovers a key feature of the deliverable deviates from the customer’ s
original specification , but meets quality and legal requirements with budget and schedule
constraints team members suggest keeping the original design. White other team members insist
on modifying the design to meet the customer’ s requirement. After negotiation, the final
decision is to keep the current design. The project manager should take which of the following
actions next?

A.Follow the risk response matrix

B.Change the quality plan

C.Update scope management plan

D.Follow the change management procedure
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18. A team member monitoring the processes looks at the project’ s control chart, there are six
consecutive points below the mean, but within control limits. The project manager should take
which of the following actions?

A.Adjust the process.

B.Create an Ishikawa diagram

C.Conduct a Design of experiments

D.No action is required
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19. A two-year project is 50% complete has a schedule performance index of 1.05| and a cost
performance index of 1.02, A new project enters the portfolio and is deemed a higher priority
than the current project.As a result, the current project loses three key resources, despite tossing
resources, the project manager is asked by senior management to complete the project on time
and within budget without additional resources.
A.executive resources balance

B.crashing

C.change the project baseline
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D.implement deviation analysis
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20.A project team includes a resource who is also committed to four other projects.The manager
knows that this resource may be unavailable at the times.The project manager plans to
continuously evaluate the project’ s progress and to make a contingency plan around the
resource’ s availability. Of what is this an example?

A.Acceptrisks  B.Avoid risks  C.Transfer risks D.Control risks
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21. Faced with the sharp decline of the company's latest active users of a mobile game, the
company's marketing department proposed to reduce the cost of the game, while the company's
R&D Department believed that the main reason is that a competitor launched a more popular
new game, and should invest in the development of an updated game. The company's
management commissioned a business analyst to carry out a business analysis on this issue. The
final conclusion is that the recent air-conditioning system failure in the data center where the

game is located affects customer perception and leads to the decrease of active users. For this
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business conclusion:

AVery failed, because the solution did not end up on the project.

B.Success, but the solution to the problem does not require a project approach

C.Very failed because it did not solve business problems.

D.Success, because that's the best way to save money.
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22. The project deliverables are approved and the project manager receives payment for the final
in voice. A procurement audit is performed. Who provides formal authorization for the closure of
the project?

A.Project team

B.Subject matter expert

C.Project sponsor

D.Project expediter
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23.Each data point in the chart represents a project ’ s reporting period What is the status of the
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project in reporting period eight?

A.Over budget and behind schedule

B.Under budget and behind schedule

C.Under budget and ahead schedule

D.Over budget and ahead schedule
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24. Team member A wants to leave the team, complaining about team member B.s personality.
What should the project manager do?

ATalk with both team members separately to understand the facts about their current
relationship

B.Advice team member A that team member B. will be removed from the project

C.Address the conflict in a team meeting and facilitate a resolution

D.Ask the team members to tiy to work together until the end of the project
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25.The sponsor asks the project manager to stop the project because the allocated budget is
depleted. What should the project manager do next?

A. Negotiate with vendors to finish the outstanding tasks

B.Prepare a final report to document project issues and deliverables

C.Update the project chapter to reflect the project end date

D.Prepare a change request to update the project scope
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26. Three months into a 12-month project, the schedule performance index (SPI) is 0.99. Three
months later, the SPI shows that the project is significantly behind schedule.The project manager
realizes that the customer did not make decisions on the new requirements. What could be the
reason for this?

AThere is no integration management plan

B.There is no quality management plan

C.There is no risk management plan

D.There is no change management plan
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27.A team finishes a large project, but the customer is dissatisfied with the product and claims
the project is inomplete. To what should the project manager refer to determine if the team has
met its customer obligations?

A.Project scope statement

B.WBS

C.Project chapter

D.Verified deliverables
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28. A junior project team member questions the methods in a proposal submitted from another
member. The argument between the team members now is threat to the project schedule. After
careful consideration, the project manager agrees with the junior team member to modify the
proposal. What method is the project manager using?

A.Collaborate

B.Smooth

C.Force

D.Withdraw
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29. Which one of the following is true about tacit knowledge?
A.Information held by a person about a business, project or activity.
B.It is a risk, when it is held by one person.

C.Undocumented information.

D.All of the above.
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30.An international company is locking to expand its organization. Part of this expansion plan
includes establishing a series of branch offices in selected geographical locations. The sponsor
has drafted the project charter, who is now seeking the project manager's help fmalizing the
content.

Below is an excerpt of the current version of the charter. Project charter excerpt:

Overall purpose, expand the company's presence in growing marking markets and offer more
local access to private customers.

Objectives:

-Establish several branch offices.

-Increase the number of private customers -Offer a range of services.

High level risks:

-Limited knowledge of local conditions, rules and regulations -A rapidfy developing unstable
market-Large number of competitors looking at the same opportunities What should be further
improved in the project charter to increase the chances of a Successful completion and
acceptance?

A.Improve the project’ s purpose to clarify the overall goal

B.Improve the risks by developing a set of clear risk response strategies

C.Improve the objectives and add definitive measure to each of them

D.Leave the charter and start converting this into a project management plan
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31. While testing a new network infrastructure,the supplier identifies that a component must be
upgraded due to a potential hadrware defect .What should the project manager do to effective
manage the project?

A.Generate change requests

B.Perform change analysis

C.Perform RACI analysis

D.Revise the stakeholder register
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32.Halfway through a multiphase project, the sponsor terminates the work because there is no
longer an organizational need for the project. This could have been avoided if:

A.More effort was spent on developing the project management plan

B.The project business case was properly developed

C.Legal requirements were analyzed at the start of the project

D.The project statement of work was more detailed.
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33. An organization receives proposals from five pre-qualified sellers for provision of services for
a project. Selection of a seller will be based upon evaluation of several qualitative criteria. It is
now required to shortlist two sellers based upon the proposals submitted. What tool or
technique should the project manager use to establish the shortlist?

A.Seller rating system

B.Weighting system

C.Contract negotiation

D.Independent estimates
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34. Before seeking endorsement of the project plant, the project manager prepares a stakeholder
anatysis. Which of the following should the project manager identify?

A.Methods or technologies to be used convey the project plan

B.Level of participation for each identified stakeholder

C.Stakeholders according to their judgment and expertise

D.Roles; interests, expectations, and influence of the stakeholders
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35. A current project has a total of 10 stakeholders, while a previous project had 5. How many
more communication channels does the current project have?

A5

B.10

C.35

D.45
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Two months into a designed project, the customer requested a modification to the project. The
change was made without notify the project manager. During the fmal testing phase, result was
dififerent from what was planned for, This scenario is an example of which of following?

A.Poor definition of the test plan

B.Poor development of quality management

C.Poor use of scope change control

D.Poor adherence to the communication plan
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37. In agile development team, the developer estimates the time required to complete an activity,
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assuming there are no interruptions, so that work can be completed 100% efficiently is called,
A.Shuffle Time.

B.Cycle Time.

C.Actual Days.

D.ldeal Time.
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38.During the execution of the project, the customer reviews the project status with project
manager. The customer realizes that expected work was not included in the statement of work.
What is the next step the project management should take?

A.Submit the change request to the change control board for approval

B.Review the project schedule to accommodate the new request

C.Invoke the change request process

D.Perform fast tracking to exceed customer’ s expectations
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39.A project has consistently missed the delivery dates. After assessing the situation with the
project manager realizes the poor performance is due to a lack of charity for team member's
responsibilities? What should the project manager focus on first?

A.Create a RACI chart
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B.Consolidate the role of the leadership

C.Negotiation for new team member with stronger skills

D.Use reward and coercive power to motivate the team
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40.0n a construction project, the plumbing work is in progress when the client requests a change.
The project manager should do which of the following first?

A.Refuse to make the change, because it will increase the project costs.

B.Refer to the project management plan to see how the change should be handled

C.Refer to the contract to see if there is any clause pertaining to this situation

D.Make the change science the client requested it
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41.During quality control, the project manager discover results that exceed the control limits for
product A more often than stated in the quality metrics. The project manager decides to initiate a
quality bandit, who should perform the audit?

A.Company or external auditors

B.The team member responsible for product

C.Other team members

D.The project manager
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42.A project's budget to develop and deploy a company’ s product is US$10 million. The project
manager must plan the project and complete the work within 12months. After discussions —
stakeholders, the project manager evaluates if the product can be developed by internal staff.
What of the following techniques should the project manager use?
A.Cost-benefit anafysis
B.Life cycle cost analysis
C.outsourcing technique
D.Make-or-buy analysis
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43.A project manager documents a client * s high-level requirements for a new system
development project During these discussions, the project manager realizes that they each have
different understanding of the requirements. What should the project manager do next?

A.Wait until the client decides what they want.

B.Write a report explaining the client’ s requirements as the project manager understood
C.Schedule a meeting with the client to clarify the requirements.

D.Proceed with the project as understood.



4y PMP (SEISHIAT S5—i8 (2EER ) of fch trzpmp

43,701 H 22 S 5 — N5 HOE R GUT R TUH K2 R K. Wi e h, TiH 2RI E
TP RN AN FTRAAF KB IH LB RN EAM?

AFERs 2 P JUE A T EE SR AT 4

B4 S — ki, HZITH LB BRI R KR
CLHF—~IREE I, BIFTR.

D. 4K SE B AR AT I H

44. A stakeholder states that they did not receive the root cause anafysis regarding an issue
talked in recent meetings during a recent project status meeting. The project manager discovers
that the stakeholder is not included in the name list What should the project manager do next?
A.Reference the risk register

B.Update the communications management plan

C.Perform a change request

D.Update the stakeholder register
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45.A project manager must create the project management plan. Which of the following should
be included in the project management plan?

A.Cost performance baseline, quality control plan, performance reports, and schedule baseline
B.Project scope statement, scope baseline, schedule baseline, and risk management plan
C.Procurement documentation, work baseline structure, change requests, and quality
management plan

D. Procurement management plan, cost performance baseline, quality performance report, and

procurement documentation.
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46. A project manager is assigned to project that is in progress. In which of the following
document would a new project manager find information regarding the scope baseline?
A.Project management plan

B.Project scope statement

C.Project charters

D.Project requirements
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47. A Project manager completes three months of work with a cost variance of $-3,000. Which of
tiie following does the earned value analysis show?

A.Favorable; the project is performing more efficiently than planned

B.Unfafavorable; the project is performing less efficiently than planned

C.Favorable; the project is ahead of schedule

D.Unfevorable; the project is behind of schedule
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48.During the launch of a new product, an extreme vendor causes a major delay. This cause the
project to be terminated. To address this situation, what should the project manager do first?
A.Meet with several external vendors to generate solutions to the issue

B.Implement proper tools and techniques to solutions as soon as possible

C.ldentify another external vendor that could provide a similar produce

D.Assess impact of this risk to the project, activate the risk response plan, communicate with t
stakeholders.
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49.A over-budget project has yet to be completed.What should the project manager do due to
the current contract is a cost-plus project contract.

A.Conduct a procurement performance review

B.Change the vendor contract to fixed price

C.Withhold payment until completion of the contracted deliveries

D.Implement a strict change control process
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50. Which of the following inputs are included in integrated change control?
A.project management plan, change requests and work performance report

B.lesson learned, project plan updates and work performance information



4y PMP (SEISHIAT S5—i8 (2EER ) of fch trzpmp

C.additional planning and corrective measure
D.Change control system
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51.A project sponsor asks for a modification to a deliverable. The request is reviewed and
approved. What is the project manager first task?

A.Review the project’ s change management process

B.Gather input from the team members and prepare a risk assessment.

C.ldentify the work required to make the change

D.Update the change request status in the change log.
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52. While reviewing the project managent plan,the project manager determines that cost
performance index is 0.8 and schedule performance index is 0.7.Which of the following is
occurred?

A.A key stakeholder was not adequately involved

B.The project is over performing

C.The project is under performing

D.The project manager determined there was scope creep
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53.Although the first two deliverables are complete, a project had been canceled due to the
financial issue. What should the project manager do?

A.Deliver project documentation to the customer and finish the contract

B.Validate the acceptance of the deliverables and transfer to the customers

C.Document lessons learned and formalize project closes

D.Submit closing documentation and release the resource
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54. During a project s execution, a team member realizes more takes are required to comptete
work package than initially planned. What should the project manager do next?

A.Revise the scope and communicate to stakeholders according to the communication
management plan.

B.Instruct the team member to complete the extra tasks, knowing that it will not affect project
baseline.

C.Advise the team member to document the additional effort, and create a change

D.Appoint another team member so that the work package can be completed without the

project.
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55. A project manager is assigned to a project in the execute. The project manager identified
several risks which cause the team to concern. In order to solve the risk, what should the project
manager do?

A.update the risk register and plan risk responses

B.review the risk management plan

C.share the updated risk register with all the team member

D.review the project management plan
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56. Agile projects are popular, more new knowledge, more changing needs, more diverse teams,
etc. Project management methods must pay more attention to how to adapt to agile projects.
Therefore, the project manager's focus is to create a cooperative atmosphere to ensure that the
team can cope with changes, because:

A.Integration is no longer as important as traditional projects.

B.The more adaptable the project is, the more opportunities the team should have for
independent decision-making.

C.The knowledge of project managers is difficult to meet the needs of Agile Projects

D.In agile projects, project managers are easily overhead
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57.During the development of a key activity, a key team member announces that he will leave the
project. This risk was not previously identified as part of the risk assessment. This is likely to
impact the project schedule. What should the project manager do first?

A.Negotiate a delay in the project delivery date with the customer.

B.Propose a change request to reduce the complexity of the critical activity

C.Evaluate and assess the impact to the project schedule and cost.

D.Schedule an urgent meeting with the human resources department.
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58.Company A completed a project to a client. However, it was not on the shortlist for a next
project. Company A was sure that the relationship with the client was damaged during the
previous project ’ s cooperation. What tools or techniques should the project manager of
Company A use to maintain the relationship with client?

A.To collect feedbacks from the client to measure it’ s satisfaction at the end of each phase

B.To contact the client to make sure why was it not on the shortlist

C.To create a quality management plan at the start of the project

D.To performed a risk assessment at the end of each phase
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59. You have taken over a project from another manager who left the firm. This is a functional
organization and the different units are often rather hostile to each other. The project is a large
one involving activities that the organization has never done before. You find that the project has
what appears to be adequate documentation, including an agreed to project charter, project
management plan, WBS, etc.,, The project is on schedule and within budget. However, the
atmosphere in meetings with the project members often seems tense, and offhand comments
made by participant seem to mdicate a high level of dissatisfaction with the project You review all
the major project documents with the key stakeholders and get agreement that they are still
accurate, but this does not seem to solve the problem. What is the MOST likely explanation for
this situation?

AThere are personality conflicts among the project team members that you need to uncover and
resolve.

B.The project does not have an effective sponsor and thus is not viewed as a high priority.
C.Stakeholders have very different expectations about what the project is supposed to
accomplish.

D.The organizational structure and dynamics prevent people from working together effectively.
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60.In a project with fixed-price contract, the project manager believes that the customer last
change request could impact the schedule. What should the project manager do next?

A.Meet with the stakeholders

B.Meet with the team

C.Follow the change control process

D.Renegotiate the remainder of the contract
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During project execution, a stakeholder presents an approved change request to the project
manager, who is unaware of this request. What should the project manager do next?

A.Advise the stakeholder of the change control process.

B.Create a new change request.

C.Reject the change request.

D.Imptement the change request.
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A client wants additional work completed without the project's delay. What should the project
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manager do first?

A.advice the client that this request will be difficult to accommodate

B.implement the change as client satisfaction goal

C.escalate to senior management to obtain approval

D.issue a change request to capture the client’ s requirements and evaluate project
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A new project manager assume a project after a phase closing. The new project manager aspects
that there were delays during the previous phase.What should the project manager review to
confirm this?
A.Lessons learned
B.Project chapter
C.Schedule performance index (SPI)
D.Work performance reports
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64. A task of a project that includes the customer staff resources will occur during a weekend.
And the project manager realized that the resource manager rejected to pay the overtime three
days before the weekend. So, he must reschedule the tasks. Which of the following should the
project manager do to avoid this issue?

A.put the payment for overtime in the project’ s budget
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B.Advise the customer about the importance to finish the task

C.Aske the customer’ s staff to inform their human resources manager about the issue
D.identity all the project stakeholders
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65. Initial acceptance testing begins on a system upgrade project that is on time and budget.
Unexpectedly, the system receives low satisfaction ratings from the staff due terminology used in
the system. What should do before test to avoid this happen?

A.ldentify the most commonly used terminology by using Delphi research

B.Understand the organizational culture of the staff stakeholder communication Stakeholders
process

C.Submit a FAQ list to senior information technology managers

D.Create a process to familiarize the staff with industry standard terminology
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66.After a project is approved by the sponsor, a project manager is assigned.Which of the
following should the project manager review first?

A.Vendor contract
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B.Approved project charter

C.Approved project budget

D.Customer requirements
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The sponsor of a muhiphase project quits the company. The project is docked and is meeting its
objectives. The resourcing budget is in place. What should the project manager do next?
A.Assess the continuous project need by agree of the superior of the sponsor quit

B.immediately start the project closing process

C.check alignment with the business study and continue if it is valid

D.delay reassessment till the prefect funding has been used at the end of the project
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research engineer discovers a process that could reduce the situation of waste of est-selling
production. The president of the company wants to use this new process, but he worries about
the cost. What would be the next step for the project manager?

A.Define the scope

B.Prepare a business case

C.Develop a project management plan

D.Create a project charter
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A project can be broken into the following activities:Activities

Activities Predecessor Duration (weeks)
A AR 2
B A 1
D B 5
C H 45 6
E C 7
F D;:E 1
END F -

Activities A will be delayed by six weeks due to the unavailable resources. What influence will
happen to the project?

AThe project will be delayed by 6 weeks

B.The project end date will not change

C.Activities F will be delayed by 5 weeks

D.The project will be delayed by 1 week
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70.The project manager learns that a new standard was approved which will require a change in
scope. To identify who should receive the information regarding the change request, the project
manager should refer to the:

A.Stakeholder register

B.Communication method register

C.Communications management plan

D.Change control document
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71.The project manager scheduled a kick-off meeting with five stakeholders. Each stakeholder
has a different responsibility in the organization. What are the stakeholders’ roles at the kick-off
meeting?

A.Sign-off on the project

B.Demonstrate commitment to project success

C.Provide input into resource allocation

D.ldentify risks to the project
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72. A new sponsor takes over a project in the execution phase. The sponsor directs manager to
stop approving the project resources timesheets. Instead, the sponsor assigns task to another
team member. To re-establish control, what should the project manager do next?

A.Organize a meeting with the sponsor to establish a new approval process.

B.Follow the new sponsor's instruction and delegate the task to the team

C.Refer the sponsor to the human resource management plan

D.Refer the sponsor to the authority provided in the project charter
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73.During the project, an incident occurs which impacts the cost of the project, but not the time
the event was previously identified as a potential risk by the project team. What should the
project manager do to limit the impact of the incident on the project cost?

A.Refer to the risk register to determine the appropriate and agreed upon response

B.Analyze the incident, including impact in cost and time, and create a change request

C.Develop a workaround and implement this immediately to minimize cost overruns

D.Perform a sensitivity analysis to determine the flexibility in cost overruns by different responses
BAETHERES, KA T —AESh . SHFEAEW 7 IH R, ERRE R A, %
Z TR H TR 53l oy — TR AR AR o 7 EBR i SR T30 H A f 2, 300 H 2 3 W 1%
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74.A steering committee finds a project is poorly planned and wants it terminated. The project
manager is asked to initiate the project closure. What should the project manager do?
A.Verify the project scope
B.Distribute the project information
C.Report project performance results
D.Review the project documentation
7448 FZE NS KIMETE FTHRIR 2, ABEZEZE O SRR B S0 2. I
H A& BB A ?
ARZ LI H G
B. KA H 5 &
CAR T T H S5 4
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75.During the project initiation phase, the project manager becomes aware that the stakeholders
may be influencing the project in multiple positive and negative ways. What should the project
manager do in this situation?

A.Assign a task to top management and the project sponsor to reduce the number of
stakeholders

B.Perform a stakeholder analysis and group the stakeholders by using a power/interest grid
C.Concentrate management actions on key stakeholders

D.Update the risk register

75 AE T H R Bl B, 30 H 2 PRASRIAR <5 1T RE DL 22 AR ARRTVE B K 5 SREE M T H AR I R
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76.A project manager terminates a contract for the design of a two-part repot, because the first

part did not meet the criteria in the statement of work. After a new request for proposal, the



4y PMP (SEISHIAT S5—i8 (2EER ) of fch trzpmp

selection committee awards a new contract to another designer. During the contract closure
process, the project manager should do which of the following?

A.Review the procurement processes.

B.Update the project management plan.

C.Include the terminated contract in the lessons learned documentation.

D.Prepare a completion certificate for the terminated contract.
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77.The project manager is starting a new project and is preparing the kick-off presentation slides.
The project manager is worried about what information put in the presentation. Which item
should the project manager discard from their presentation?

A.Project scheduled activities

B.Resource assignments for the different project phases

C.Risks associated with project implementation

D.Lessons learned
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78. Deviation analysis is often inadequate, because even if the deviation does not exist at a

certain point in time, the trend may continue to deteriorate. Regarding trend analysis, the
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mistake is:

A.Help predict performance

B.Should be carried out as soon as possible and regularly

C.Improve the actual cost of the project

D.Suggestions for necessary preventive measures can be made based on the trend analysis
results.
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79.A project team completes project A’ s deliverables, vice president announces project B. will be
assigned to the project team. Since project A deliverables are finished. To ensure the success of
project A, which of the following should the project manager do?

A.execute an overall quality review of project A

B.Verity deliverables acceptance by the customer

C.review the scope validation documentation

D.evaluate project A impact to the company
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80.The senior management team, project sponsor, and project manager terminate a project 6

months before the scheduled completion date. What should the project manager do next?
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A.Review the issue log and attempt to close all outstanding issues, if any

B.Establish procedures to investigate and document the reasons for the actions

C.Update the knowledge base with lessons learned and historical information

D.Release the team members for other projects
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81.In the project’ s closing phase, the project management office requests an evaluation of the
project management methodology used by the project. What should the project manager do?
A.Perform administrative closure.

B.Conduct a post-implementation anafysis.

C.Develop the project closing report

D.Develop the project members evaluate
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82. A project ends prematurely. To document the amount of work completed, what should the
manager do first?

A.validate the scope process

B.perform project closure

C.conduct a past-implementation review

D.close the contracts
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Project manager leams that a new team member completed their first work package. The project
manager is surprised, because the work package was running behind schedule and it seems to be
on time right now.What should the project manager do first?

A.Confirm that the quality management plan was applied to that work package

B.Congratulate the project team member for the timely completion of the work package
C.Validate the scope before accepting the work package

D.Update the project schedule
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84. In a project to upgrade a company’ s accounting application, the project manager emails
regarding the project’s status and the next activities. A key user of the application complains that
application outages are affecting their work performance. What should the project manager do
next?

A.Continue working according to planned activities

B.Report the key user to their supervisor

C.Review the stakeholder analysis and update to include

D.Review the stakeholder analysis and inform all stakeholders to include the key users’ emails
8ALETHI A T2 vh MR P H v, 100 H &84 A ROk — 0 8T FRAS BL G 8275 3))
FRY BT BB A o 2 S R e B — o S B P P 628 N AR e 45 FH e e AT T 1) AR Sk, T H 22 1
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85.A project manager sends an email regarding an internal project information report. How
should the project manager build the distribution list?

A.Include all customer interfaces

B.Include all project team members

C.Include all project stakeholders

D.Use the project communications management plan.
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Project manager purchased a technology standard for the project.What kind of cost is the
standard?

A.cost of evaluation

B.external failure cost

C.internal feilure costs

D.Preventing costs
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D. B Bl A

87.A balanced matrix organization has a project that involved different functional departments. It
will occur delays when changes are approved.

What should the project manager have done to the project?

A.Evaluated change request with the project sponsor

B.Established a change control board(CCB) that includes all key stakeholders

C.Update the communication and stakeholder management plan

D.Reviewed each change with the project team

87 — T FEFE LA A DT H I R ASFIHRRERR . I H R AR, ek At it
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88. eam 1 completes 30 story points in a 2 week iteration. Team 2 completes only 15 story points
and it has more team members than team 1. You are the agile manager for both the teams. In
this situation, how you can handle?

A.Push Team 2 to complete more story points like Team 1.

B.Increase the number of resources in the Team 2, to match the story points of Team 1.

C.Agree story points completed is different for teams, and it is normal.

D.Increase the bonus for Team 2 to motivate them to complete more stories.
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89.In a critical project phase, team performance is decreasing due to internal conflicts among 1he
members. The reason for conflicts is unknown, however, the issues must be resolved. What
should the project manager do next?

A.Speak separately with each member to understand the reasons for the conflicts and the issues.
B.Exercise authority as the project manager and force the team to proceed without other issues
that could affect project performance.

C.Speak separately with each member to understand the reasons for the conflicts to resolve
themselves

D.Escalate the issues to the steering committee
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90. A company’ s storage fecilities are affected by storms. This negatively impacts the project's
completion date and milestones. What document should the project manager consult to find the
roles and responsibilities of those people who will resolve the situation?

A.Stakeholder management plan

B.Risk management plan

C.Resource management plan

D.Communication management plan
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In conducting risk analysis for a large project, the project team creates a project model for
simulation. The computations are iterative alive with input values such as cost estimates and
activity durations. A probability distribution is then calculated from these iterations. What
technique is described?

ATrend anafysts.

B.Herzberg’ s simulation method

C.Delphi technique

D.Monte Carle anatysis
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A project manager learns of software that could improve the efficiency of project in current in
future status. Since this software is new to the company, the engineer knows less about it The
project manager decides to send the senior engineer to replace.What risk strategy is the project
manager using?

A.Mitigate

B.Enhance

C.Exploit

D.Share
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At project start, a communication management plan was approved. In a coffee break, project
manager hears that some stakeholder argue the plan will become problem issues.How can the
project manager ensure that these concern are solved?

A.Review the responsibility assignment matrix(RAM)

B.Publish all updates on the project’ s intranet site

C.Manage stakeholder engagement

D.Updated the communications management plan

93 fET H HFUa IS, & X FFMAE T — i@ EH Rl . EMS UM g, I0H & BT iE —
SETT H AR R TT N IZAE BRI AT BEAEAE R R T 22 PN DA OR AR LI L6 ] 7L ?

A B TR ECHERE (RAM) BAETR H A8 W4 il 7% A1 BT A BE
CEBAMKT 25U H LR

D. SR i B T )

94.A new project is initiated, and a large number of stakeholders were identified. Each
stakeholder's expectations of the project scope, budget, and schedule are different What tool
should be used to priorteize the potential influence or impact a stakeholder may have?
A.Information distribution plan

B.Power/interest grid

C.Communication requirements analysis

D.Interpersonal skills
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95.A project manager is leading a cross-functional team of 12 members, including the project
manager. When creating the communication plan, the team identified two additional
stakeholders. These two additional stakeholders are the project sponsor and company's vice
president. How many potential channels of communication exist?

A.24

B.91

C.14

D.78
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96.After noticing a conflict within the team, the project manager attempts to emphasizing the
areas on which the team agrees and de-emphasizing the areas on which the team disagrees. This
is an example of which of the following conflict resolution?

A.Compromise/ReconcileA

B.Smooth/Accommodate

C.Collaboratc/Probtem solve

D.Withdraw/Avoid
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97. For personal reasons, a project sponsor advises the project manager to replace a team
member who is performing well What should the project manager do next?

A.Discuss with the sponsor to reconsider the request, as the team member is performing well
and is valuable for project success.

B.Accept the project sponsor request only if acceptance will benefit the project.

C.Accept the project sponsor request and replace the team member with qualified resource
D.Disregard the project sponsor request, as the project manager is responsible for the resources.
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98.A project manager who works in a functional organization wants to build a strong team for the
project. However, the functional managers have their own priorities and do not offer him the
most experience resources. What should the project manager do next?

A.Review the roles and responsibilities and update the training needs.

B.Consult the human resource management plan to validate these profiles and team
performance assessment.

C.Follow the change control process and change scope of the project to adjust available resource
D.Update the project baseline and communicate the delay to stakeholder about staffing issues
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99. A project for delivery of equipment to a foreign country is in its planning phase. There is
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currentfy a risk of social instability in the country. This social instability poses multiple risks to the
project

What should the project manager do to initiate these risks?

A.Cancel the project

B.Obtain insurance coverage for this type of event

C.Negotiate with a local bank for payment through a letter of credit

D.Include specific clauses in the contract that relieve or reduce the company from penalties and
costs
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100. A team can follow the project specifications. However, there is no formal report of this issue.
As a result, the project manager cannot confirm that the team has the technical capacity to
perform the work. What should the project manager do next?

A.Request a quality audit review by the quality assurance team

B.Perform the control quality process

C.Review the situation with the project’ s sponsor

D.Ask the team members about their technical issues in meeting the project requirements 100. [4]
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The duration of a project is five months, the total cost initially was US$30,000. The project is in
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the third month, the total expenditure In the project for first two months is USS$12,3000. The
project is ahead of schedule and on budget for work completed. What is the costvariance of the
project?

A.Greater than zero

B.Less than zero

C.Zero

D.One
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102.1f the Free Float of task B is 12 days and the Total Float is 24days.Suppose that the very
beginning date is postponed for 26 days, what effects would be made for the program’ s
completed date?

A.this task would not be located superior to the critical path

B.the beginning date of the immediately following schedule activities would be postponed 14
days

C.the completed date of the program would be postponed 2 days

D.B&C
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103.Project X is 60% completed, behind schedule and over budget. The sponsor has withdrawn
funding due other higher priority projects and the department manager has reassigned all tean
members to Project Y. What should the project manager do?

A.Revise the project management plan to reflect the change in scope

B.Meeting for Project Y

C.Document and archive lessons learned on Project X

D.Calculate the EAC and ETC for the Project X
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104. The schedule performance index of a project is 0.86. After a cause and effect analysis,the
project manager discovers that most of time was spent on reword. The deliverables are
rejected.What strategy should the project manager use to solve this issue?

A.Approve overtime for the document reward

B.Ensure quality assurance is performed and implement schedule compression technic

C.Create a change request to give the team the extra time

D.Assign experienced resources to instead of the current ones
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105.The project manager takes over a project in the execution phase. Some of the project
members are in the process of looking for other assignments and want to leave the project

team due to internal team conflicts. What method should be used to understand the cause foe
fee conflicts and find solutions?

A.Smoothing

B.Compromising

C.Forcing

D.Collaborating
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106.1t is doable to transfer risk by use insurance. Suppose that some capital asserts total value is
3,000,000. The probability of the assets being destroyed is 2.5%. The insurance fee is 40 000
while to buy insurance. Is it worth to buy insurance?

A.for insurance fee is equal to the likelihood fee that the assets may lost, there is no merit to buy
insurance

B.for insurance fee is lower than the lost anticipate fee, it is best to buy insurance

C.for insurance fee is lower than the lost anticipate fee, it is no good to buy insurance

D.cannot judge with the given information
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107.A client requests a scope change request after accepting the design. This change will have a
potential impact on several project components. What is the project manager MOST
APPROPRIATE response?

A.Convince client to delay change

B.Analysis infects of schedule and cost due to the change, and have meeting with team members
C.If this change is critical, then implement it and inform the CCB

D.Estimate the cost and schedule affected by the change, get approval before implement
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108. A team develops software products using an agile product development method. The
chairman promises to provide sufficient financial support, but shortly after the start of the
project, the organization suddenly notifies that the budget will be cut by 30%. The impact of the
change on the project is most likely to be:

A.The scope of the project should remain unchanged

B.Priority of Reordering Implementation in Response to Product Functional Requirements
C.Publish whatever is completed by the deadline according to the original priority

D.Project costs should remain unchanged
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109. The least preferred contract type of agile project is,
ATime & Materials Contract

B.Phased contract.

C.Agile iteration contract.

D.Firm Fixed Price Contract.
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110.An organization and a subcontractor have identified a potential positive impact to a project
The project manager is asked to develop a response in dealing with the positive impact. What
does the project manager do?

A.Investigate options to create a risk sharing partnership with the subcontractor to manage
opportunities

B.Mitigate the risk to keep the project within scope

C.Do nothing and comply with the project charter

D.Transfer the opportunity to the project sponsor to develop the next steps
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111. Although the stakeholders though there was enoughl money in the budget, halfway
through the project the cost performance index (CPI) is 0.7. To determine the root cause, several
stakeholders audit the project and discover the project cost budget was estimated analogously.

Although the activity estimates add up to the project estimate, the stakeholders think something
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was missing in how the estimate was completed. Which of the following describes what was
missing?

A.Estimated costs should be used to measure CPI B.SPI should be used, not CPI

C.Bottom-up estimating should have been used

D.Past history was not taken into account
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112.A buyer projects the vendors with the project’ s scope of work. The project manager holds
bidder conferences. This is an activity performed during which of the following processes?
A.Conduct Procurements

B.Plan Procurements

C.Administer Procurements

D.Close Procurements.
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113.During the project execution phase,the project manager realizes that a task on the critical
path is delayed.The project manager decides to fast track the critical path activities.What is likely

to be the impact of this decision on the project?
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AThe project will be on schedule but cost and risk will be higer

B.The project will be with in the budget but time and risk will be higher

C.The project will have less risk but cost and time will be higher

D.The project will be on schedule and with in budget but risk will be higher
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114. During a software development project, a developer discovers a new tool that could
increase development speed. The project manager anafysis finds implementing the new tool
could shorten the current development phase by 20% and save 10% of the project cost. After
approval from the change control board, the project manager revises the project schedule. What
is the type of risk response?

A.Exploi

B.Accept

C.Enhance

D.Transfer
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115.A company decides to launch a new product increase its revenues. A project manager is

selected for this new project.In which of the following documents will the high-level
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requirements and stakeholders’  expectations be found?
A.Project management plan

B.Project charter

C.Stakeholder register

D.Activities list
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116.The project stakeholder adds ten more additional activities to the project. What will this
impact the CPI?

A..CPI will become better

B..CPI will become worse

C..CPI will keep the same

D.No way to confirm
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117.During project execution, a team member product corrective action. What should the project
manager do?

A.Include in the lessons learned database

B.Follow the change management plan

C.Properly document it in the issue log
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D.Update the project management plan
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118. To deliver the most valuable requirements to the customer first, makes the customer happy,
because they start realizing the benefits. This kind of product delivery is called,

A.Rapid delivery.

B.Fast delivery.

C.None of the above.

D.Incremental delivery.
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119.A company is organized with each functional manager responsible for their own segment of
the project. What is the project manager’ s typical role in this type of organization?
A.Coordinator and expeditor

B.Subcontractor

C.Supervisor

D.Manager of project portfolio
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120.A five-year project reaches its half-way point. While the team performance is good, fee
project manager is still concerned that the team motivation is low. What should the project
manager do to keep the team motivated?

A.Document any issue in the project issue log

B.Ensure the project RACI chart is accurate

C.Use the Delphi technique

D.Complete a team performances assessment
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121.A hospital wants to implement a medical records system. A consulting firm > s project
managers will develop the project charter. What do the manager need to develop the project
charter? The project manager needs which of the follow mg to develop the project charter?
A.Project Business argumentation and organizational process assets

B.Project Business argumentation and process improvement plan

C.Enterprise environmental factors and quality management plan

D.Business case and risk management plan
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122.A human resources (HR) information system is completed according to the project's
specifications. After using the HR system for the first time the human resources manager states
that old system project provided more information than new system, what should the project
manager have done to prevent this situation?

A.defined a contingency plan

B.conducted an appropriate stakeholder analysis

C.create the work breakdown structure

D.initiated a change request
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123.The project manager of a complex project is working on planning risk response activities.As
an expert m risk management, the project manager considers risk transfer options.what is the
primaiy effect of risk transference?

A.Project manager will not be in charge of the project production.

B.Additional cost may be paid to who will be in charge of the risk

C May be tn.sfer the project management responsibilities to who will be in charge of the risk
D.Project manager cannot do risk transfer
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124.A project manager would like to monitor the effectiveness of Management quality on a
project.What tool and technique should they implement to do this.

A.Check

B.Quality analysis

C.Performance review

D.Quality audits

124 0 H B B P PR S BAT 2E  EEA BIX — i, M AT T2 S Tt AR T T L A AR ?

125.During a product development project, all customer communication followed the contract.
The customer now disagrees with the project manager comply with the agreed-upon scope.What
should the project manager do to determine it?

A.Meet with the customer to agree on new acceptance requirement

B.Use a requirements traceability matrix

C.Review project scope statement

D.Collect technical work performance data to reveal the performance gap
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126.Project stakeholder insists on adding project requirements. The project manager wants to
support the requests, but many of the requirements exceed the budget and are misaligned the

baseline.What should the project manager do?
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A.Approve the requests that are within budget and that align with business needs

B.Submit the requests to change control board(CCB)

C.Take a project meeting to review the requests against the project scope statement

D.Inform the project sponsor
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A new project manager compiles the stakeholder register for the process management and to
review previous projects. Which of the following is a reference for the stakeholder?
A.Cross-functional flowchart that shows all steps in the process management

B.Communications management plans within previous project record

C.Detailed charter of the new project

D.Customer survey data for the audit management process
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128. Management asked the agile team for a detailed project plan. The response of the agile
coach should be,

ATell the management, that plan is not needed for an agile project.

B.Request the team to stop the work, and prepare the detailed project plan.

C.Prepare the detailed project plan.

D.Take the opportunity to educate the senior management on agile principles
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129. Agile methods represent the work to be done by the unfinished items. Like predictive life
cycle projects, in the process of schedule control, it is necessary to carry out the analysis of
progress data. For agile methods, progress data analysis tools are generally used:

A.burnout chart

B.earned value method

C.Deviation analysis

D.Fundamental Cause Analysis
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130. The cost reserve should be:

A.Hidden to prevent management from disallowing the reserve

B.Added to each task to preserve the customer from knowing that a reserve exists
C.Maintained by management to cover cost overruns

D.Added to the base costs of the project to account for risks
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A project manager has an idea for a new service which will enable their company business within
a new market segment. After consultations, networking, market analysis and project assessment,
the project manager believes there is a foundation to forther define the new service.What should
the project manager do next?

A. Identify risk

B.Collect requirements

C.Define the high-level scope

D.Create the work breakdown structure
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132.A project manager is completing the planning process for a new product development
project. What is the last major milestone to be completed before proceeding to the execution
group?

A finalize the project charter

B.receive project funding to execute

C.obtain sponsor and stakeholder approval

D.execute the stakeholder management strategy
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133.A project manager is working on a project to launch a new internet service. The project
manager plan that this work is to be done by the support team, the support tarn does not want
to be the work because they do not have the necessary expertise and claim that they have never
heard of the project.What is the root cause of this problem?

A.Communication plan was not used

B.Project manager did not involve all the stakeholders

C.Support team is not prepared to do task

D.Project manager did not identify lack-of-expertise risks
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134.A project manager has limited resources and the project has been delayed. What should the
project manager use to fulfy meet the schedule?

A.Resource smoothing  B.Resource leveling  C.Fast tracking  D.Crashing
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I35.A project manager obtains seller responses, and selects a seller to provide one of the
project's key components. The project manager completed which of the following processes?

A.Control Procurements
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B.Direct and Manage Project Work

C.Plan Procurement Management

D.Conduct Procurements
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136. Three weeks into a construction project, a contractor encounters an underground water
pipe which was not included in the contract. The customer's representative verbally instructs
them to divert the water pipe around the construction site What should the contractor do next?
A.Divert the water pipe as instructed

B.Submit a change request

C.Analyze the impact of the change

D.Submit a claim
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137.The project plan is important in change control because it

A.Provides the baseline against which changes are managed

B.Provides information on project performance

C.Alerts the project team to issues that may cause problems in the future

D.Is expected to change throughout the project
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138.A team member identifies that one of the tasks assigned to them is on the project's critical
path and has a high probability to be delayed. What should the project manager do immediately?
A.Review the risk register and update it if needed.

B.Assign additional resources to that task

C.Prepare an updated project schedule and create a new baseline

D.Communicate this issue to the project sponsor
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139. A project sponsor requests the project team to change the information echnology resources,
To determine how to continue the project, which of the following documents should the project
manager need?
A.change management plan
B.resources plan
C.risk management plan
D.contingency plan
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140.A project team identifies an emergency, which requires an immediate change. Due to die
limited schedule, there is not enough time to follow a standard change control process. What
should the project manager do next?

A.Stop the project until the change control board approves the change.

B.Establish a new change control board to assess the change.

C.Inform the project sponsor and ask for advice.

D.Document the change first and obtain approval from change control board later.
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141.Team members are performing tasks with what they familiar with but ignore others. This
creates conflict among team members.What should the project manager do to solve the
problem?

A.Assign specific roles and responsibilities

B.Speak with team members’ line manager

C.Negotiate with team members

D.Obtain clarification from the project sponsor
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142 The project * s lessons learned documentation demonstrates a poor use of historical
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information throughout the project, which of the following tools should be used to find the
causes of this issue?

A.Fishbone diagram  B.Control charts  C.Flowcharting  D.Histogram
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143.A project to deliver a product’ s prototype is on schedule. However, actual costs exceed
budgeted costs. The project manager must determine if the process to measure product quality is
stable and predictable. Which of the following tools should the project manager use?

A.Force field analysis  B.Control chart  C.Critical chain method  D.Benchmarking
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144.A newly hired project manager is assigned three projects to close. The projects have been
completed and a final review is to be perfonned. The project manager discovers that none of the
five phase reviews were perfonned to have a go/no go decision. What should be done?

A.ldentify all completed documents and declare the projects closed.

B. Call a meeting of stakeholders of each project to plan phase reviews that were missed
C.Confirm documents validating completion and acceptance of deliverable for each phase
document lessons learned conduct a final review of it all and archive the project documents
D.Closing of these project does add any value and is a waste of time that can be applied to other

projects
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145.During estimation discussions with the project team, a project manager is advised
thatactiveities could be completed in 4 days in the best-case scenario; 9 days in the worst-case
scenario it will most likely take 5 days. Using a PERT analysis, what is the activity's expected
duration?

A.4days

B.5 days

C.5.5 days

D.6.5 days
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146.After a project sponsor agrees with a change, the project manager documents, submits, and
approves the change. The change benefits the project, but negative impact on the other project.
What should the project manager have done instead?

A.Limit change after the project enter the execution phase

B.Assess the impact of the change with the team
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C.Perform a risk assessment before approving change

D.Review all changes with the change control board before approving change request
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147.A project team is comprised of suppliers and teams from several different countries. During

the project execution, the project manager realizes that due to cultural and language difference,

the team Jacks cohesion. What should the project manager do to maximize team performance?

A.Use networking tools

B.Apply conflict management technique

C.Promote team-building activities

D.Implement project performance appraisals
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148.After receiving the first project deliverable, the customer states that an important function is
missing and the project will not miss its objective. What should the project manager do next?
A.Iplement the change, because it is a minor modification

B.Implement the change, because ft will impact the projects objective

C.Dot not implement the change, because it will delay the project.

D.Dot not implement the change, because it has not been approved
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149 After the project work is completed, a meeting is held with the client to deliver the four
products. The client accepts two of the four products, and indicates that the remaining two
projects don not meet the requirements. Before delivering the project, which process should the
project manager have follow up to keep alighment with the customer’ s expectations?

A.Control Quality

B.Perform Quality Assurance

C.Perform Quality Control Measurement

D.Perform Quality Audit
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150.After the work breakdown structure is crested, the project manager starts the Identify Riste
Process using the brainstorming technique. During this process, some potential risks are raised
What should the project manager do?

A.Change the project scope to avoid the risks.

B. Accept the risks and include their expected value to the project budget.

C. Define potential responses.

D.Implement workarounds to avoid the risks.
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151.An inspection report from company quality control department do not meet the quality
specifications. What should the project manager do?

A.analysis the data, improve quality assurance activities, and update plan

B.negotiate the quality specification criteria with the stakeholders

C.submit a change request to correct the delivers

D.repeat the test with test new quality specification
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152.In which project document should the result of revised stakeholder risk tolerances be
recorded?

A.Project charter

B.project scope statement

C.Risk management plan

D.Risk register

152. T AW — 4 350 H SO b A5G T7 KU 28 B BE BT 45 R ?
AT H TR

B.IT H Vi [l 5 W1

C AR B T )

D. XU B A



4y PMP (SEISHIAT S5—i8 (2EER ) of fch trzpmp

153. As a result of changes in an organization’ s structure ,

stakeholder A takes on new responsibilities and steps down from the steering committee .
stakeholder A’ sreplacement, stakeholder B, raises issues regarding the project’ s business
benefits. What should the project manager do first?

A.Document the issue in the issue log and update the project benefits.

B.Update the project management plan

C.Meet with the stakeholders,including the project sponsor

D.Update the stakeholder register and refer to the stakeholder management strategy

153. 1 TAHRGHRIAR L, MKRTT A AE THRTHE, e ESEME RSP, H
K7 A BAEMKTT B IR 5 H R kA A < ] 7L I 22 B o A% B A ?
ALET UL g iz nl B, I SR E A

B.HEBT I H & BRI

CHMRI &M, BRI HEEAN

DS AL, IS5 5T B

154.The customer of a recently implemented project requests the project manager investigate
post-implementation issues that cause business disruptions and losses. The project manager tells
the customer that the request about the situation has been in charged by the operation team. To
finish the discussion, which of the flowing should the project manager should do?

A.Asks the project team to evaluate the root cause, correct the issue and make records.
B.Reviews the closure documents, presents them to the customer, and asks operation team to
solve it.

C.Reports the customer’ s complain to the sponsor to have resources to solve it.

D.Reviews the risk management plan to determine if the issue has been Identified and planned
before
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155.Project manager was drawing a human resource plan for a project which deadlines must be
observed. The project will be referred to an expert team from 5 different countries. The experts
will ptay significant roles in the project.What chould the project manager do?

A.Inform the project spcmsors of the problem and let him/her to make further decision

B.Allocale new resource and reduce the project scope to match the deadlines

C.Plan a feasible, vrtual team environment and ensure completion of work across time zones
D.Crash the project schedule with more resource
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156.At the end of a product development project, the customer satisfoction survey results show
that the customer is disappointed that several valuable features were not included in the finally
deliverables What could be a possible cause for these survey results?

A.Poorly defined work breakdown structures  B.Poorly defined requirements

C.Risk register was not kept up-to-date. D.Teams were geographically dispersed.
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157.A project manager is responsible for a large project and has developed the work breakdown
structure. What does the structure include?

A.Critical path B.Scope of the project

C.Cost estmation D.Task /resource assignments
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158. During project closure a project sponsor complains that the project did not increase the
department’ s knowledge of Java programming and therefore, the project is not complete. The
customer has accepted the project.The project manager determines that all stated objective and
deliverables have been met. He does not find evidence that Java programming was an objective.A
review of project correspondence shows no mention of the deliverable. The project manager
should:

A.close project

B.re-plan the project to include the new objective

C.meet with the team to discuss the issue and find a resolution

D.get the project stakeholders involved to help resolve the issue
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159.A historically reliable vendor is providing a project power. However, the power paused for the
changing of project manager. Where should this failure and its mitigation be recorded?

A.Risk register B.Issue log

C.Procurement management plan D.Acceptance criteria
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160. During a project status review, a project finds that cost performance index is 0.94. What
does this mean?

AThere is a cost overrun for work completed

B.The project most likefy will end ahead of schedule

C.work performed is more efficiently than plan

D.progress standard deviation is 6%
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161. During the delivery of a key product, an issue is identified that will delay the project by two
weeks. While assessing the issue, it becomes clear that a team member was aware of this risk a
month earlier but did not escalate it to the project manager. Who is responsible for not
identifying this project risk ?

A.Project risk manager

B.Project sponsor

C.Project team member
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D.Project manager
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162. Towards the end of a large infrastructure project the tension rises, and conflicts between
team members occur more frequently. This affects the productivity of the team, and takes the
focus away from completing the scope. To restore order the project manager putts two people
off the team and replaces them with otiiers. What strategy does the project manager use?
A.Forcing

B.Avoiding

C.Compromising

D.Exchanging
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163 Project manager is creating a monthly progress report. Provided information shows that the
actual cost(AC) is $200,000, the cost performance index(CPI) is 0.85, and the planned value is
$230,000.How is the project status?

A.The project cost has been pulled away to another project

B.The project must crash to improve productivity
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C.The schedule is more challenging than the cost

D.The project is more efficient than expected
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164.Each time is a project component is tested, the project component passes user acceptance
criteria and fulfills all requirements. What process did the project manager implement and
execute repeatedly?

A.Control Quality

B.Perform Quality Assurance

C.Configuration Analysis

D.Sponsor Reviews
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165. A project team is distributed across multiple countries, and they are having issues agreeing
on what is being delivered and how it should be developed. Which of the following should the
project manager do to alleviate some of the tension between team members, break down
cultural barriers, and improve communication?

A.Ask the team to communicate only through email to clearly document issues.

B.Discuss this issue with senior management and recommend that the team be co-located.

C.Monitor performance and discuss the issues in detail at the next retrospective.
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D.Hold daily standup meetings with the two teams at a time that works best for everyone.
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166. Strengths, weaknesses, opportunities, and threats (SWOT) analysis helps the project
Manager to identify which of the following?

A..Stakeholder expectations

B.Mission statement

C.Project risk

D.Customer needs
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167. The so-called "win by quality" means that quality surpasses competitors and often brings
good market prospects for products. In the process of quality planning, the actual or planned
project practices or project quality standards are compared with those of comparable projects
(sometimes competitors'similar projects), so as to identify best practices, form improvement
opinions and provide basis for performance appraisal. The tools or methods described here are:
A.Cost-benefit analysis

B.Expert Judgment

C.Benchmarking

D.Quality Cost Analysis
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168.Weather conditions are identified as critical risks for an offshore wmd park development
project To mitigate risks associated with bad weather conditions, the project manager creates a
contingency plan to and more time to the planned schedule. At the time of execution, a
hurricane comes close to the wind park area so that all activities need to be stopped immediatefy.
What should the project manager next?

A.Update the risk register and create a change request

B.Get additional approval from the steering committee.

C.Change the schedule of the team members accordingly

D.Avoid any chances to keen the project management plan as if was approved.
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169.A Project manager provides senior managent with staus report.The project manager has
developed a CPM diagram showing two activities with negative total slack. Which of the
following conclusions can managementcan derive from this analysis?

A.The two activities are critical activities of the project

B.The project manager has miscalculated because is possibte to have at most one activity with
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negative slcak

C.Late finish is less than late start for both activites

D.The project is progressing ahead of schedule since there are alredy activeities with negative
slack
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170.What information does a control chart project to a project manager?
A.Indicates the need for variance analysis

B.lllustrates how a process behaves over time

C.Helps a project manager to changer the project scope

D.ldentifies the project risks
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171. Physical resource management focuses on the efficient and efficient allocation and use of
physical resources, such as materials, equipment and supplies, needed to successfully complete
the project. To this end, the organization should have the following data: (current and reasonable
future) resource needs, (can meet these needs) resource allocation, and resource supply. Failure
to effectively manage and control resources is a source of risk for successful project completion.
Regarding physical resource management, the following statements are incorrect:

A.Failure to ensure that critical equipment or infrastructure is in place on time may delay the

manufacture of final products
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B. Ordering low-quality materials may damage product quality, leading to mass recalls or rework.
C.Keeping too much stock may delay the manufacture of final products.
D.If the inventory is too low, it may not be able to meet customer needs, which will lead to a

decline in organizational profits.
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172. Regarding the constitution of the team, the mistake is:

A.Recognition and compliance with clear rules as soon as possible can help reduce
misunderstandings and improve productivity.

B.Discuss areas such as codes of conduct, communication, decision-making, meeting etiquette,
etc. Team members can understand each other's important values.

C.The project manager is personally responsible for the formulation of the best results, because
the formulation of team charters is one of the main responsibilities of the project manager.
D.Regular review and update of Team Charter to ensure that the team always understands the
basic rules of the team and to guide new members to integrate into the team
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173.The development of requirements begins with an analysis of the information contained in
the.

A.Project Charter and Questionnaire or Surveys.
B.Organizational project assets and project scope statement.
C.Project charter and stakeholder register

D.Stakeholder register and project scope statement.
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174. In Agile projects, the technique in which planning is done at three distinct horizons is known
as:

A.Monte Carlo Analysis.

B.Portfolio Management.

C.Delphi Technique.

D.Progressive Elaboration.
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175.A project manager takes over a large project supported by culturally diverse
workforce.Within a week, it becomes clear that there is a significant conflict among two of the
groups because the former project manager fevored one group wilh special perks and
accommodations.What should the new project manager do?

A.lmmediately begin facilitating a satisfactory resolution to the conflict using a collaborative

approach resolution.
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B.Find out why the project manager favored one group.

C.Post a new set of rules and regulations in s public location for all groups to see.

D.Report the problem to human resources.

175. 00 H 2 T — DN RBIH , 250 H A FESCR N SIS0 RE . ANE— e, ITH 2
ORI AT LN SIAFAE TSR o 5%, RN AT I0T H 20 2 0 i 52 e b — 41N 51, il I 3R it
RN P IR (5 S S TN S EZSe IVAL ¥/

ASER B T3, SERI RGN A R T SRR 1 5%

B4k HH AR I0T H 22 B i 52 L b — 2 A S5 A

CAE b 5KV BT AT 18 5% 30 BE R 21 X0 B 0 U A ] 2

D.Ja] N B AR o e

176. During the execution phase of the project, the project team identified a serious project plan
deviation. The scope of the project was defined correctfy but the planning missed some technical
deliverables that have impacted the schedule and the planned cost. In order to assure the
success of the project, which should the project manager do?
A.Ask the customer to pay the cost of the deviation
B.Propose a change request, and inform the stakeholders of this case to get their supports
C.Negotiate with team to work overtime for mitigating the impact of cost and schedule
D.Negotiate with customer to reduce the scope of project for avoiding the deviation
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177. The newly transferred project manager wants to know the stage of the existing project team
building in order to formulate the relevant methods and measures of team building. He finds that

the team members know each other and understand the project situation and their formal roles
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and responsibilities in the project. At the same time, the team members tend to be independent
of each other rather than open-minded. The current stage of the team is:

A.Formation Stage

B.Oscillating Stage

C.Maturity Stage

D.Normative phase
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178.The project is in the execution phase. The cost performance index is 1.2 and the schedule
performance index is 0.8. What is the best description of the project actual situation?

A.Over budget and ahead of schedule

B.Under budget and ahead of schedule

C.Under budget and behind schedule

D.Over budget and behind schedule
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179.The project manager asks the risk manager to conduct a monthly quantitative risk analysis.

What should the risk manager present?
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A.Monte Carlo cumulative char

B.Risk reassessment

C.Probability and impact matrix

D.ldentified risks with probability and impact ratings
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180. In view of the characteristics of the project, the project manager has formulated a social
media policy for the employees in the process of planning, communication and management.
The main considerations of the project manager are:

A.Project environment

B.ease of use

C.Availability and Reliability of Technology

D.Sensitivity and confidentiality of information
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181.A project manager is leading the implementation of a solution that involves several emerging
technologies. Thus, the project manager expects that the original project planning documents
may need to be updated several times throughout the project life cycle to adjust overall project
dtection. What should the project manager do?

A.Develop detailed project organization charts and empower subject matter experts to approve

any necessaiy technical scope change



4y PMP (SEISHIAT S5—i8 (2EER ) of fch trzpmp

B.Establish a direct and dynamic communication path with senior leadership so they are en [f
ged m every change request

C.Inform the senior leadership that the project could not be developed once the risk of failure is
identified

D.Design and implement an integrate change control system to report, control, and record
changes to the originai project baseline
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182.The project manager completes the project charter. What is the next activity the project
manager needs to do?

A.Create Detailed stakeholder register

B.Create requirements documentation

C.Create stakeholder management strategy

D.Create quality management plan
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183.The project manager conducts an inspection with the customer to confirm that the project
deliverables meet the product acceptance criteria and fulfill the customer’ s expectation. These
actions are part of which of the following processes?

A.Control Quality = B.Close Project or Phase  C.Control Scope  D.validate Scope
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184.The project manager is asked to estimate a project’ s costs.The cost and time estimates must
be accurate and the detailed cost of every work package is required.Which of the following
techniques should be used?

A.Top-down estimates

B.Roug order of magnitude estimates

C.Bottora-up estimates

D.Parametric estimates
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185. Diagram shows the sequence of activities for project XYZ and its duration, the project
manager is asked to reduce the project duration by two weeks, none of the activities can be fast
tracked. Activities A and F cannot be crashed; activity G can be crashed by two weeks; and all
other activities can be crashed by one week. To meet the new project duration requirement,
which of the following will the project manager decide to do?

A.Crash activity G

B.Crash activities Cand D

C.Crash activities G and Cand D

D.Crash activities G and F and C
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186.The project team follows outlines in the process improvement plan to identify needed
improments. In which process group, should this task be performed.

A.Planning

B.Executing

C.Monitoring &Controlling

D.Closing
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187.What are the two main rules to follow during schedule crashing?

A.Crash the activities on non-critical path  and those that cost the least by crashing
B.Crash the activities on critical pathand those that cost the least by  crashing
C.Crash the activitieson critical pathand  those that cost the most by  crashing
D.Crash the activities on non-critical path  and those that cost the most by crashing.
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188.What tools and techniques are used to monitor and control risk?
A.Risk audits, inspection, and status meetings

B.Status meetings, risk register, and risk reassessment

C.Status meetings, variance and trend anatysis, and change requests
D.Risk audits, reserve anatysis, and status meetings
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189. Which of the flowing statements is rekted to the Conduct Procurements Process?

A.The process of obtaining seller responses, selecting a seller, and awarding a contract.

B.The process of documenting project purchasing decisions, specifying the approach, and
identifying potential sellers.

C.The process of completing each project procurement.

D.The process of managing procurement relationships, monitoring contract performance and
making changes and corrections as needed.
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Which of the following is an objective of a quality audit?

A.ldentification of gaps and shortcomings
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B.Development of change requests
C.Development of quality metrics
D.ldentification of cause and effect diagrams
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Which of the following is an example of quality control?

A.ldentify quality requirements and \ or standards for the project and product

B.Determine whether the work is continuously improving

C.Recommend action to eliminate the root causes of unsatisfactory product performance
D.Determine whether project activities comply with organizational and project policies, processes
and procedures
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192.In the development of a new project the endurance testing is an important activity on critical
path. However, the last facility is occupied by a higher project, which is taking longer than initially
planned. What should the project manager do text?

A.Perform a root cause analysis for the delayed project

B.Review the risk register for the appropriate response

C.Inform the project stakeholders about the delay

D.Escalate the issue to senior management.
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193. Which of the following tools and techniques are used in procurement planning?
A.Reserve analysis

B.Make-or-buy analysis

C.Bidder conferences

D.Vendor bid analysis
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194.The project manager is briefing management on project status and identifies a negative
schedule variance but a positive cost variance. Which of the following conclusion is reasonable?
A.The project is behind schedule but may be brought back on schedule by adding resource

B.The project is ahead of schedule but over budget and needs further investigation

C.The project is behind schedule, over budget and merits serious concern

D.The project is ahead of schedule, under budget and progressing with no obvious issues 194. 3
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195.Situations calling for a matrix organization include outside pressure for dual focus, ___and
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pressure for high information processing capability.

A.Pressure for clear accountability

B.Pressure for reduced duplication of effort

C.Pressure for shared resources

D.Pressure for formalized communication
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196.The planned cost for a construction project is US $100,000. after 40% of the physical work is
completed, the actual cost incurred is US $60,000. The project’ s cost performance index is which
if the following?

A.0.6

B.0.67

C.1.5

D.1.6
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197. The project team has decided to classify and prioritize risks, in which more than two
parameters are needed during the classification process. For the choice of tools and technologies,
your suggestions are as follows:

A.hierarchy diagram

B.Probability and Impact Matrix
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C.Risk Data Quality Assessment

D.Risk probability and impact assessment
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198. A project manager leads a product development project. The product passes test version
will be released to the client. Before the release date, the client discovers a key issue must be
fixed in the final release. The client agrees to pay for the fix caused by client” s product design?
What should the project manager do next?
A.Decline the client’ s request and suggest fixing it in a later version.
B.Moot with the change control board approve the change.
C.Prepare a change request form that details the fix.

D.Conduct a meeting with the sponsor to assess the impact of the change.
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199. The project manager's change request is approved by the change request board and will
affect the project schedule. What is the next step to implement the change?

A Re-baseline the project

B.Assign the change request to a team member

C.Update the project management plan
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D.Revise the budget
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200.A project manager is assigned to a development project. During testing, the sponsor decides
to change one of the product’ s main functions. The project manager will cover the cost of this
development using which of the following?

A.Management reserve

B.Contingency reserve

C.Cost reserve

D.Constraints reserve
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